44"

SCALET:45

CITYOF \@
ROSEVILLE

CALIFORNIA

Electric Utility

SPEC. GROUP: 2025 RODEO

REV. DATE: REV. NO:

4KV DOUBLE DEAD-END BELL CHANGE OUT
JOURNEYMAN EVENT

11/05/24 2

DRAWING NO.

C. MALONE

1 of 2



AutoCAD SHX Text
SPEC. GROUP:

AutoCAD SHX Text
REV. DATE:

AutoCAD SHX Text
REV. NO:

AutoCAD SHX Text
DRAWING NO.

AutoCAD SHX Text
4KV DOUBLE DEAD-END BELL CHANGE OUT

AutoCAD SHX Text
JOURNEYMAN EVENT

AutoCAD SHX Text
2

AutoCAD SHX Text
11/05/24

AutoCAD SHX Text
C. MALONE

AutoCAD SHX Text
2025 RODEO

AutoCAD SHX Text
1 of 2

AutoCAD SHX Text
44"

AutoCAD SHX Text
44"

AutoCAD SHX Text
10"

AutoCAD SHX Text
6"

AutoCAD SHX Text
A

AutoCAD SHX Text
B

AutoCAD SHX Text
6"

AutoCAD SHX Text
E

AutoCAD SHX Text
9'

AutoCAD SHX Text
SCALE1:45

AutoCAD SHX Text
C

AutoCAD SHX Text
B

AutoCAD SHX Text
D

AutoCAD SHX Text
6"


LETTER  QTY STOCK NO  ITEM

A 2 10162 INSULATOR, PIN TYPE, 12kV POLYMER, HENDRIX HPI-55—4
2 10163 INSULATOR PIN, 5/8 IN NYLON HEAD
2 10222 WASHER, SPRING, 5/8 IN
45’ 10225 WIRE, ALUMINUM, NO.4, TIE WIRE
B 2 10115 CROSSARM, 8 FT HD, DEAD END, SPEC—90
3 10073 BOLT, DOUBLE ARMING, 3/4 IN x 26 IN (OR FIT TO MEASURE)
4 10315 EYE NUT, 5/8 IN, OVAL
7 10222 WASHER, SPRING, 5/8"
S 10223 WASHER, SQUARE, 2—1/4 IN, 5/8 IN HOLE
2 10188 SIGN, HIGH VOLTAGE, YELLOW PLASTIC
C 4 10436 INSULATOR, DEADEND, SUSPENSION, BETHEA DS—15M
4 10085 CLAMP, DEADEND, NO.6 — 2/0 ACSR, MPS, ASO—398—1—-N
D 4 10094 CONNECTOR, HOT LINE TAP, 1/0
F 11962 CADWELD, WIRE, NO.4 STRANDED JUMPER,

REV. DATE: REV. NO:

11/05/24 2

SPEC. GROUP: 2025 RODEO

ciyor \(Y@i DRAWING NO.
BQSE LLE | 4kv DOUBLE DEAD-END BELL CHANGE OUT

/FORNIA JOURNEYMAN EVENT
Electric Utility C. MALONE

2 of 2



AutoCAD SHX Text
SPEC. GROUP:

AutoCAD SHX Text
REV. DATE:

AutoCAD SHX Text
REV. NO:

AutoCAD SHX Text
DRAWING NO.

AutoCAD SHX Text
4KV DOUBLE DEAD-END BELL CHANGE OUT

AutoCAD SHX Text
JOURNEYMAN EVENT

AutoCAD SHX Text
2

AutoCAD SHX Text
11/05/24

AutoCAD SHX Text
C. MALONE

AutoCAD SHX Text
2025 RODEO

AutoCAD SHX Text
2 of 2

AutoCAD SHX Text
LETTER

AutoCAD SHX Text
QTY

AutoCAD SHX Text
STOCK NO

AutoCAD SHX Text
ITEM

AutoCAD SHX Text
A

AutoCAD SHX Text
2

AutoCAD SHX Text
10162

AutoCAD SHX Text
INSULATOR, PIN TYPE, 12kV POLYMER, HENDRIX HPI-55-4

AutoCAD SHX Text
2

AutoCAD SHX Text
10163

AutoCAD SHX Text
INSULATOR PIN, 5/8 IN NYLON HEAD

AutoCAD SHX Text
2

AutoCAD SHX Text
10222

AutoCAD SHX Text
WASHER, SPRING, 5/8 IN

AutoCAD SHX Text
45'

AutoCAD SHX Text
10225

AutoCAD SHX Text
WIRE, ALUMINUM, NO.4, TIE WIRE

AutoCAD SHX Text
B

AutoCAD SHX Text
2

AutoCAD SHX Text
10115

AutoCAD SHX Text
CROSSARM, 8 FT HD, DEAD END, SPEC-90

AutoCAD SHX Text
3

AutoCAD SHX Text
10073

AutoCAD SHX Text
BOLT, DOUBLE ARMING, 3/4 IN x 26 IN (OR FIT TO MEASURE)

AutoCAD SHX Text
4

AutoCAD SHX Text
10315 

AutoCAD SHX Text
EYE NUT, 5/8 IN, OVAL

AutoCAD SHX Text
7

AutoCAD SHX Text
10222

AutoCAD SHX Text
WASHER, SPRING, 5/8"

AutoCAD SHX Text
5

AutoCAD SHX Text
10223

AutoCAD SHX Text
WASHER, SQUARE, 2-1/4 IN, 5/8 IN HOLE

AutoCAD SHX Text
2

AutoCAD SHX Text
10188

AutoCAD SHX Text
SIGN, HIGH VOLTAGE, YELLOW PLASTIC

AutoCAD SHX Text
C

AutoCAD SHX Text
4

AutoCAD SHX Text
10436

AutoCAD SHX Text
INSULATOR, DEADEND, SUSPENSION, BETHEA DS-15M

AutoCAD SHX Text
4

AutoCAD SHX Text
10085

AutoCAD SHX Text
CLAMP, DEADEND, NO.6 - 2/0 ACSR, MPS, ASO-398-1-N

AutoCAD SHX Text
D

AutoCAD SHX Text
4

AutoCAD SHX Text
10094

AutoCAD SHX Text
CONNECTOR, HOT LINE TAP, 1/0

AutoCAD SHX Text
F

AutoCAD SHX Text
11962

AutoCAD SHX Text
CADWELD, WIRE, NO.4 STRANDED JUMPER,


	Sheets and Views
	ALT 2025 JOURNEYMAN 4 BELL CHANGEOUT 4kV 0DEG ANGLE-8x11
	ALT 2025 JOURNEYMAN 4 BELL CHANGEOUT 4kV 0DEG ANGLE-MASTER TABLE DRAWING


